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WEST BENGAL STATE UNIVERSITY 

B.A. Honours 2nd Semester Examination, 2021 

PHIACOR03T-PHILOSOPHY (CC3) 

OUTLINES OF INDIAN PHILOSOPHY-I 
Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

 Answer question No. 1 and 2 and any two from the rest 
১ নং এবং ২ নং pেűর উtর দাও এবং �য-�কােনা dিট  pেűর উtর অবিশŶাংশ �থেক দাও 

1. Answer any five questions from the following: 
িনmিলিখত �য-�কােনা পাঁচিট  pেűর উtর দাওঃ 

2×5 = 10

(a) What is meant by Ṛta? 
ঋত কােক বেল ? 

(b) What is Pañca-Kośa? 
পĀেকাশ িক ? 

(c) How many Bhūtas are accepted by Cārvāka? What are they? 
চাবর্াক দশর্েন কয়িট ɛত sীকার করা হেয়েছ ? �সgিল িক িক ? 

(d) Write the names of Dravya after Vaiśeṣika Philosophy. 
�বেশিষক দশর্ন অনুসাের dব°gিলর নাম �লেখা। 

(e) What is Svabhāvavāda? 
sভাববাদ িক ? 

(f) How many actions (Karma) are accepted by Vaiśeṣikas? What are they? 
�বেশিষকগণ কয়িট কমর্ sীকার কেরন ? �সgিল িক িক ? 

(g) What, according to Nyāya philosophy, is the nature of Sannikarṣa in the case of 
perception of colour of a thing? 
ন°ায়দশর্ন অনুসাের �কােনা বstর রেঙর pত°েk �কান  ্ সিnকেষর্র pেয়াজন হয় ? 

(h) How many Pramāṇas are accepted in Nyāya philosophy? What are they? 
ন°ায় দশর্েন কয়িট pমাণ sীকার করা হেয়েছ ? তােদর নাম উেlখ কেরা। 

(i) What is the difference between Pramā and Pramāṇa ? 
pমা ও pমােণর মেধ° পাথর্ক° িক ? 

(j) Mention the Pakṣa, Sādhya and hetu in the following inference: 
‘The hill has fire, because the hill has smoke’. 
িনmিলিখত অনমুানিটর পk, সাধ° ও �হt িনণর্য় কেরাঃ 
‘পবর্ত বিhযুk, �যেহt পবর্েত ধূম আেছ’। 
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2.   Answer any two questions from the following:  

িনmিলিখত �য-�কােনা dিট  pেűর উtর দাওঃ 
5×2 = 10

(a) Explain the Cārvāka’s view of Ᾱtman. 

আtা সmেকর্ চাবর্াক মত ব°াখ°া কেরা। 

(b) Distinguish between Savikalpaka Pratyakṣa and Nirvikalpaka Pratyakṣa. 
সিবকlক এবং িনিবর্কlক pত°েkর পাথর্ক° িনণর্য় কেরা। 

(c) Give a short account of the notion of Pratityasamutpādavāda. 

pতীত°সমুৎপাদবােদর একিট সংিkp িববরণ দাও। 

(d) Distinguish between Saṃyoga and Samavāya. 

সংেযাগ ও সমবােয়র মেধ° পাথর্ক° িনrপণ কেরা। 

(e) What is Alaukika Pratyakṣa? Explain with examples. 

অেলৗিকক pত°k কােক বেল ? উদাহরণ সহেযােগ �লেখা। 
  
3. ‘Anumāna is not a means of valid knowledge’ — Critically explain this view of 

Cārvāka. 

‘অনুমান pমাণ নয়’ —  চাবর্াকেদর এই মত সিবচার ব°াখ°া কেরা। 

10+5

  

4.   What is Abhāva? How many types of Abhāva are accepted in Vaiśeṣika 
Philosophy? Explain with suitable examples. 

অভাব িক ? কয়pকার অভাব �বেশিষক দশর্েন sীkত হেয়েছ ? উদাহরেণর সাহােয° pেত°কিট ব°াখ°া 
কেরা। 

3+2+10

  

5.   Explain in detail the four noble truths in Buddhist Philosophy.  

�বৗdদশর্েন sীkত আযর্সত°চtŶয় িবsািরতভােব ব°াখ°া কেরা। 

15

  

6.   What is Vyāpti? Explain Vyāptigrahopāya. 

ব°ািp কােক বেল ? ব°ািpgেহর উপায়gিল িক িক ? 

3+12

  

7. What is Sāmānya, according to Vaiśeṣika? Discuss the nature of Sāmānya. What 
are the different types of Sāmānya? What are the difference between Sāmānya 
and Viséṣa? 

�বেশিষক মেত সামান° িক ? সামােন°র srপ আেলাচনা কেরা। িবিভn pকার সামান°gিল িক িক ? 
সামান° ও িবেশেষর pেভদ িনণর্য় কেরা। 

2+5+3+5

  
 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 

to their own respective colleges on the same day / date of examination within 1 hour after 
end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple 
copies of the same answer script. 

 ——×—— 
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WEST BENGAL STATE UNIVERSITY 

B.A. Honours 2nd Semester Examination, 2021 

PHIACOR04T-PHILOSOPHY (CC4) 
HISTORY OF WESTERN PHILOSOPHY-II 

Time Allotted: 2 Hours Full Marks: 50 

The figures in the margin indicate full marks. pািnক সীমার মধ°s সংখ°ািট পূণ�মান িনেদ�শ কের।  
Candidates should answer in their own words পরীkাথ�ীরা িনেজর ভাষায় যথা সmব শbসীমার মেধ° 
and adhere to the word limit as practicable. উtর কিরেব। 

 Answer Question No. 1 and 2 and two more questions taking one from each 
group (‘A’ & ‘B’) 

 ১ নং ও ২ নং pű এবং িবভাগ ‘ক’ ও ‘খ’ �থেক একিট  কের িনেয় আেরা dিট  pেűর উtর দাও  
1. Answer any five questions from the following:

িনmিলিখত েয-েকােনা পাঁচিট  pেűর উtর দাওঃ 
2×5 = 10

(a) Explain with example the principles of Universal Instantiation (U.I.).  
উদাহরণসহ সািব�ক দৃŶাnীকরণ িনয়মিট বয্াখয্া কেরা। 

(b) What is propositional function? Give example.
বচনােপkক কােক বেল ? উদাহরণ দাও। 

(c) What is quantifier? What are its types?
মানক কােক বেল ? মানক কত pকােরর হয় ? 

(d) MxxMxx ~)(~~)( : Is the sentence true? 

MxxMxx ~)(~~)( : এই বাকয্িট িক সতয্ ? 
(e) What is individual constant? 

বয্িk rবক কােক বেল ? 
(f) Find a normal form equivalent to the following:

সমাথ�ক িবিহতাকাের বয্k কেরাঃ 
 )](~[~)(~ Rxxx  

(g) What is truth function? 
সতয্ােপkক কােক বেল ? 

(h) Distinguish between free variable and bound variable with illustrations. 
মুk gাহক ও বd gাহেকর মেধয্ পাথ�কয্ দৃŶাnসহ িনrপণ কেরা। 

(i) What do you understand by ‘sufficient condition’?
পয�াp শত� বলেত িক েবােঝা ? 

(j) Give the form of the joint method of agreement and difference.
অnয়ী বয্িতেরকী পdিতর আকার েদখাও। 
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2. Answer the following questions: (any two)

িনmিলিখত pűgিলর উtর দাওঃ(েয-েকােনা dিট) 
5×2 = 10

(a) Explain the limitations of Existential Instantiation. (E.I.) 

অিstমূলক দৃŶাnীকরণ (E.I.) িনয়েমর সীমাবdতাgিল বয্াখয্া কেরা। 

5

(b) What is the need for quantification? 

মানকিলিপর pেয়াজনীয়তা কী ? 

5

(c) Symbolize the following sentences by using quantifiers, variables etc: (any two) 
িনmিলিখত বাকয্gিলেক মানক, বয্িkgাহক ইতয্ািদর সাহােযয্ pতীকািয়ত কেরাঃ(েয-েকােনা dিট) 
i. A girl will win if and only if she is lucky. 
 েকােনা েমেয় জয়ী হেব যিদ এবং েকবল যিদ েস ভাগয্বতী হয়। 
ii. Apples and oranges are tasty and good for health. 
 আেপল এবং কমলােলব ুসুsাd এবং sােsয্র পেk ভােলা। 
iii. Socrates is wise. 
 সেkিটস jানী। 

2 2
1 ×2 = 5

(d) Explain and illustrate the product theorem and the addition theorem of calculating 
probability.   
উদাহরণসহ সmাবয্তা গণনার gণ ও েযােগর সূt বয্াখয্া কেরা। 

2 2
1 ×2 = 5

  

 GROUP-A

িবভাগ-ক 
3. Construct formal proof of validity of the following: (any three) 

িনmিলিখত যিুkgিলর আকারগত ৈবধতা pমাণ কেরাঃ(েয-েকােনা িতনিট ) 
(i) Doctors and lawyers are professional people. Professional people and 

executives are respected. Therefore, doctors are respected.  
 ডাkার ও আইনজীবীরা বৃিtধারী বয্িk। বৃিtধারী এবং উcপদs বয্িkরা সmানীয়। সুতরাং 

ডাkাররা সmানীয়। 
(ii) Socrates is mortal. Therefore, everything is either mortal or not mortal.  
 সেkিটস মরণশীল। সুতরাং সবাই হয় মরণশীল অথবা মরণশীল নয়। 
(iii) )()( HxGxx  

 )~()(/)~()( GxIxxHxIxx  

(iv) ])[()( CxLxDxx  

 )[()( IxAxx  

 )~()( IxLxx  

 )()(/)()( IxCxxAxDxx  

5×3 = 15
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4. Determine the invalidity of the following arguments by the method of truth value 
assignment: (any three)  

সতয্মূলয্ আেরােপর dারা িনেmাk যুিkgিলর অৈবধতা pমাণ কেরাঃ (েয-েকােনা িতনিট)  
(i) If anything is metallic, then it is breakable. There are breakable ornaments. 

Therefore, there are metallic ornaments.   

 যিদ েকােনা িকছু ধাtর ৈতির হয় তেব তা ভñুর। ভñুর গহনা আেছ। সুতরাং ধাtর ৈতির গহনাও 
আেছ। 

(ii) No employer who is either inconsiderate or tyrannical can be successful. 
Some employers are inconsiderate. There are tyrannical employers. 
Therefore, no employer can be successful.     

 েকােনা িনেয়াগকত�া িযিন অিবেবচক অথবা েscাচারী সাফলয্ লাভ করেত পাের না। িকছু 
িনেয়াগকত�া অিবেবচক। েscাচারী িনেয়াগকত�া আেছ। সুতরাং, েকােনা িনেয়াগকত�া সফল হেত 
পাের না।  

(iii) )]([)( KxTxYxx  

 )]}()[(){( RxNxXxWxKxx  

 )](~[)( NxZxTxx  

 )]([)( XxRxYxx  

 )~()( ZxYxx  

(iv) )~()( CxBxx  

 )~()( CxDxx  

 )()( BxDxx  

5×3 = 15

  

 GROUP-B

িবভাগ-খ 

5. Explain Copi’s criticisms against Mill’s methods. Are the criticisms justified? 

িমেলর পdিতgিলর িবrেd Copi েয সমােলাচনা কেরেছন তা বয্াখয্া কেরা। সমােলাচনাgিল িক 
যুিkযুk ? 

10+5

  
6. Calculate the probability of the following events: (any three) 

িনmিলিখত ঘটনাgিলর সmাবয্তা িনণ�য় কেরাঃ (েয-েকােনা িতনিট) 
(i) What is the probability of getting at least one and at most one head in tossing 

three coins?    

 িতনিট মুdা িনেkপ করেল অnত একবার এবং অনিধক একবার েহড পড়ার সmাবনা কত ?  

(ii) What is the probability of getting either a 3 or a 5 or a 6 from a single rolling 
of a dice? 

 একিট লুেডার ঘঁুিট একবার দান িদেল ৩, ৫ অথবা ৬ পড়ার সmাবনা কত ?  

5×3 = 15
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(iii) What is the probability of getting at least one non-ace in four successive 
draws of card from a standard pack of cards if the card drawn once is 
replaced before the next draw?      

 একিট আদশ� তােসর পয্ােকট েথেক পরপর চারিট তাস টানেল অnতঃ একটা অ-েটkা পাওয়ার 
সmাবয্তা কত যিদ একবার েতালা তাস িdতীয়বার েতালার আেগ পয্ােকেট েফরত েদওয়া হয় ?  

(iv) An urn contains 27 white balls and 40 black balls. What is the probability of 
getting four black balls in four successive drawings? 

 (a)  If each ball is replaced? 

 (b)  If the balls are not replaced?        

 একিট পােtর মেধয্ ২৭ িট সাদা বল এবং ৪০িট কােলা বল আেছ। পরপর ৪িট বল tেল িনেল ৪িট 
বলই কােলা হওয়ার সmাবয্তা কত ? যিদ  

 (ক)  pিতবার বলিট tেল আবার েরেখ েদওয়া হয়। 
 (খ)  pিতবার বলিট tেল বলিট রাখা না হয়। 

  

 N.B. : Students have to complete submission of their Answer Scripts through E-mail / Whatsapp 
to their own respective colleges on the same day / date of examination within 1 hour after 
end of exam. University / College authorities will not be held responsible for wrong 
submission (at in proper address). Students are strongly advised not to submit multiple 
copies of the same answer script.  

 ——×—— 
 


